



Nome: Bruno Akira Oshiro

$$1) \mathcal{L}[A f(t)] = \int_0^{\infty} A f(t) \cdot e^{-st} dt = A \int_0^{\infty} f(t) \cdot e^{-st} dt = \underline{A F(s)} //$$

$$2) \mathcal{L}[f_1(t) \pm f_2(t)] = \int_0^{\infty} (f_1(t) \pm f_2(t)) \cdot e^{-st} dt = \int_0^{\infty} f_1(t) \cdot e^{-st} dt \pm \int_0^{\infty} f_2(t) \cdot e^{-st} dt = \underline{F_1(s) \pm F_2(s)} //$$

$$3) \mathcal{L}\left[\int f(t) dt\right] = \int_0^{\infty} \left(\int f(t) dt\right) \cdot e^{-st} dt$$

$$u = \int f(t) dt$$

$$du = f(t)$$

$$dv = e^{-st} dt$$

$$v = -\frac{e^{-st}}{s}$$

$$uv - \int v du \Rightarrow \left[\int f(t) dt \cdot \left(-\frac{e^{-st}}{s}\right) \right]_0^{\infty} - \int_0^{\infty} -\frac{e^{-st}}{s} \cdot f(t) dt =$$

$$= \left[\left(\int f(t) dt\right)_{\infty} \cdot \frac{e^{-\infty t}}{s} + \left(\int f(t) dt\right)_0 \cdot \frac{1}{s} \right] + \frac{F(s)}{s} =$$

$$= \frac{1}{s} \left[\int f(t) dt \right]_{t=0} + \frac{1}{s} \cdot F(s) //$$



$$\textcircled{4} \mathcal{L} [e^{-at} f(t)] = \int_0^{\infty} f(t) \cdot e^{-(s+a)t} dt = \underline{\underline{F(s+a)}}$$

$$\textcircled{5} \mathcal{L} \left[f\left(\frac{t}{a}\right) \right] = \int_0^{\infty} f\left(\frac{t}{a}\right) \cdot e^{-st} dt$$

Substituindo: $u = \frac{t}{a}$ $du = \frac{dt}{a} \Rightarrow dt = a du$

$$\int_0^{\infty} f(u) \cdot e^{-as \cdot u} a du = a \int_0^{\infty} f(u) \cdot e^{-as \cdot u} = \underline{\underline{a F(as)}}$$

$$\textcircled{6} \lim_{t \rightarrow 0^+} f(t) = \lim_{s \rightarrow \infty} s F(s)$$

$$\mathcal{L} \{ f'(t) \} = s F(s) - f(0^+)$$

$$\lim_{s \rightarrow \infty} \int_0^{\infty} f'(t) e^{-st} dt = \lim_{s \rightarrow \infty} (s F(s) - f(0^+))$$

$$\int_0^{\infty} f'(t) \cdot \lim_{s \rightarrow \infty} e^{-st} dt = \lim_{s \rightarrow \infty} (s F(s) - f(0^+))$$

$$\lim_{s \rightarrow \infty} s F(s) = \lim_{s \rightarrow \infty} f(0^+) \rightarrow \text{constante}$$

$$\underline{\underline{\lim_{s \rightarrow \infty} s F(s) = f(0^+)}}$$



$$\begin{aligned} \textcircled{7} \quad \mathcal{L}(e^{-at}) &= \int_0^{\infty} e^{-at} \cdot e^{-st} dt = \int_0^{\infty} e^{-(a+s)t} dt \\ &= -\frac{e^{-(a+s)t}}{a+s} \Big|_0^{\infty} = \frac{1}{a+s} \end{aligned}$$

$$\textcircled{8} \quad \mathcal{L}(te^{-at}) = \int_0^{\infty} te^{-at} \cdot e^{-st} dt = \int_0^{\infty} t \cdot e^{-(a+s)t} dt$$

$$\begin{aligned} u &= t & dv &= e^{-a+s} \\ du &= 1 & v &= -e^{-a+s} / (a+s) \end{aligned}$$

$$-\frac{te^{-a+s}}{a+s} \Big|_0^{\infty} + \int_0^{\infty} \frac{-e^{-a+s}}{a+s} dt = -\left(\frac{te^{-a+s}}{(a+s)^2}\right) \Big|_0^{\infty} = \frac{1}{(a+s)^2}$$

$$\textcircled{9} \quad \mathcal{L}(\sin(\omega t)) = \int_0^{\infty} \sin(\omega t) \cdot e^{-st} dt$$

$$\begin{aligned} u &= \sin(\omega t) & dv &= e^{-st} \\ du &= \omega \cos(\omega t) & v &= -\frac{e^{-st}}{s} \end{aligned}$$

$$-\frac{e^{-st}}{s} \cdot \sin(\omega t) \Big|_0^{\infty} + \int_0^{\infty} \frac{e^{-st}}{s} \cdot \omega \cos(\omega t) dt =$$

$$\begin{aligned} u &= \cos(\omega t) & dv &= e^{-st} \\ du &= -\omega \sin(\omega t) & v &= \frac{e^{-st}}{s} \end{aligned}$$

$$-\frac{e^{-st}}{s^2} \omega \cos \omega t \Big|_0^{\infty} - \int_0^{\infty} \frac{e^{-st}}{s^2} \cdot \omega^2 \sin \omega t dt =$$

$$\frac{\omega}{s^2} - \frac{\omega^2}{s^2} \int_0^{\infty} \sin \omega t \cdot e^{-st} dt$$



$$F(s) = \frac{w}{s^2} - \frac{w^2}{s^2} F(s)$$

$$F(s) = \frac{w}{s^2} / \frac{1+w^2}{s^2} = \frac{w}{s^2+w^2}$$

(10)

$$\mathcal{L}(f * g) = \int_0^{\infty} (f * g) e^{-st} dt =$$

$$= \int_0^{\infty} e^{-sz} \left(\int_0^{\infty} f(t-z) g(z) dz \right) dt =$$

$$= \int_0^{\infty} \int_0^{\infty} f(t-z) g(z) e^{-sz} dt dz$$

$$= \int_0^{\infty} \int_0^{\infty} f(x) g(z) e^{-s(x+z)} dx dz$$

$$= \int_0^{\infty} f(x) e^{-sx} dx \cdot \int_0^{\infty} g(z) e^{-sz} dz$$

$$= F(s) G(s)$$



$$\textcircled{1} \quad y(t) = \frac{7}{3} e^{-t} + \frac{3}{2} e^{-2t} - \frac{1}{6} e^{-4t}$$

$$Y(s) = \frac{7}{3} \cdot \frac{1}{s+1} + \frac{3}{2} \frac{1}{s+2} - \frac{1}{6} \frac{1}{s+4}$$

$$G(s) = \frac{Y(s)}{U(s)} = \frac{7}{3} \frac{1}{s+1} + \frac{3}{2} \frac{1}{s+2} - \frac{1}{6} \frac{1}{s+4}$$

$$\textcircled{2} \quad y(t) = 1 - \frac{7}{3} e^{-t} + \frac{3}{2} e^{-2t} - \frac{1}{6} e^{-4t}$$

$$G = \frac{Y(s)}{U(s)} = \frac{s \left(\frac{1}{s} + \frac{7}{3} \frac{1}{s+1} + \frac{3}{2} \frac{1}{s+2} - \frac{1}{6} \frac{1}{s+4} \right)}{s}$$

③

$$G(s) = \frac{K}{JLs^3 + (RaJ + BLa)s^2 + (RaB + K Kb)s}$$

$$s=0 \downarrow$$

$$JLs^2 + (RaJ + BLa)s + (RaB + K Kb) = 0$$

$$s = \frac{-(RaJ + BLa) \pm \sqrt{(RaJ + BLa)^2 - 4JLa \cdot (RaB + K Kb)}}{2 \cdot JLa}$$

